[lpakTn4eckoe 3aHATUE Ne 5.

[TlpeoOpa3oBaHUA NPOCTENLLNX
TPUFOHOMETPUYECKUX
BblpaXXeHUM.



IlokasaTs TOXKOAECTBO:
1) (1 - cos o) (1 + cos o) = sin? o

2) (1 — sin a) (1 + sin o) = cos® o
sin? o, _ tg2 o 1) cos? o
% o l1—-cos“a

3) = ctg? a;

1 - sin



HanTu 3HaueHHe BbIpaKeHUA:
1) sin 73° cos 17° + cos 73° sin 17°;
2) sin 73° cos 13° — cos 73° sin 13°;

3) sin 9T os & + sin L cos §£
12 12 12 12°
4) sin = cos = — sin X~ cos 1?-5

12 12 12 12



Beruucaurs sin 20, ecan:

1) sina=§H£<a<n; 2) cosaz—inn<a<§£.
D 2 5) 2
Briuucauntes cos 20, ecau:

1) cosoc=i4-; 2) sina=-—~?-’~.
51 5



[Iycth cos 00 =0,6 1 0 < < X, BbIYHCIUTB:

2
1) sin <: 2) cos ; 3) tg < 4) ctg <.
) . ) . ) g ) ctg :
IIyerp sin o =—§— " -’25- <0 < M. BoIYMCIHUTE:

1) sin Z; 2) cos <; 3) tg &; 4) ctg L.
) . ) . ) g5 ) g



BriyncauTes ¢ nomMoiupo GopMyssl IpUBeLeHUS
1) cos 150°; 2) sin 135°; 3) ctg 135°; 4) cos 120°;
9) cos 225°; 6) sin 210°; 7) ctg 240°; 8) sin 315°.



BEIUHCJINTS:
1) cos 750°; 2) sin 1140°; 3) tg 405°; 4) cos 840°;

4775 6) tg 2575 7) Ctg 277C 8) cos 21 217[

o) sin —
) 4

HaiT 3HaYeHHe BBIPa)KeHHA:

1) cos 630° — sin 1470° — ctg 1125°;

2) tg 1800° — sin 495° + cos 945°;

3) 3 cos 3660° + sin (—-1560°) + cos (—450°);

4) cos 4455° — cos (—-945°) + tg 1035° — ctg (-1500°).



